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7] text1 mn
Ftestam

v
v

helpwin peaks
contour(z, 16);

v
v

v
v

contouriz, 32);
contouriz, 16);

w
v

z
ix7 sym
@(x)x*sin(x)-exp(-%)
@(xexp(x)
@(x)xexp(x)
@(xx"2texp(-x)
@[x)exp(rx)'smlx)

w
¥

surfiz)
helpwin
helpwin
nesh(z)|
contour(z)

>> bar(z, ‘DisplayNane’, 'z")

> logloalz, 'Displayane’, 'z')
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> In focusCurrentFisure at 8
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-0.1127  -0.3010 JBEBE  -1.3327 21425 -2.7738  -2.7119  -1.B823 0.0838 1.

-0.1088 -0.2924 JBT41 -1.3180 -2.16B5 -2,8733  -2.9786  -2.1481  -0.B4E9 a.

-0.0816  -0.2468 BT -1.12300 -1.8484 -2.4823 -2.B376  -1.99668  -0.7698 a.

-0.0671  -0.1805 L4186 -0.8161  -1.,3303  -1.7697 -1.7902  -1.1629  -0.0458 1.

-0.0421  -0.1119 2535 -0.4808  -0.7403 -0.8639 -0.5991 0.2269 1.5069 2.

-0.0219  -0.0558 1neo -0.1972 -0.2250  -0.0470 0.5471 1.6944 32878 4.

-0.0085 -0.0189 0233 -0.0121 0.1084 0.4784 1.2745 2.6076 4.3742 [

-0.0016  -0.0004 0.0130 0.0700 0.2411 0.6464 1.4291 2.6731 4.2836 5.

0.0000 0.0008 0.0053 0.0232 0.0797 0.2279 0.5533 1.1873 2.0867 3.3060 4.
0.0002 0.0011 0.0080 0.0183 0.0573 0. 1547 0.3628 0. 7408 1.3221 2.0881 2.
0.0002 0.0007 0.0030 0.0106 0.0318 0.06833 0.1820 0.3877 0.6672 10708 1.
0.0001 0.0004 0.0014 0.0046 0.0142 0.0363 0.0843 0.1693 0.2963 0. 4645 a.
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MATLAB T} E2: plot 2191 MBHUA plotSE) BT

plot

plot  Linear plot.

plot (¥X,¥Y) plots vector Y wversus vector X. If X or ¥ is a matrix,
then the vector is plotted versus the rows or columns of the matrix,

whichever line up.

If X is a scalar and ¥ is a vector,

disconnected

line objects are created and plotted as discrete points vertically at

X.

plot (¥) plots the columns of ¥ versus their index.

If Y is complex, plot(Y) is eguivalent to plot(real (¥Y),imag(¥Y)).

In all other uses of plot,

Various line types,

the imaginary part is ignored.

plot symbols and colors may be obtained with

plot(X,Y,5) where 5 is a character string made from one element

from any or all the following 3 columns:

b blue . point

g green o circle

r red X X-mark

c cyan + plus

m magenta * star

¥ yellow = sguare

k black d diamond

W white v triangle (down)
-~ triangle (up)
< triangle (left)

- solid

H dotted
—. dashdot
dashed
no line

_

Figure 1 ©
T2 I Py HU0 2@ §43TQ sW SSIH) N
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25

fsolve

o2 =HE il
| testam | fsolvem |+ |
166 — case ‘testina’ TD
187 — verbosity = Inf;
186 — otherwise
169 — verbosity = 1;
170 - end
M - diggnostice = strenpifoptinget(options, ‘Diagnostics . defaultopt, ‘fast'), on'):
172 - aradflag = strcwp(optimget(options, "Jacobian', defaultopt, fast'), on');
173
174 - fun¥alCheck = strempioptimget (options, "Fun¥alCheck',detaultopt, fast’'), on');
175
176 - algorithn = optimget{options, #laorithe’, defaultapt, fast');
177 - it ~iscell(algorithn)
178 - initlMparan = 0.015 % Default value
179 - else
180 — initLHparan = algorithn{2}; % Initial Levenberg-arquardt parameter
181 — algorithm = algorithn{1}: % dlgorithn string
182 — end
183
184 — switch algarithm
186 - case 'trust-resion—dosles’
186 — algorithmflag = 2;
187 - case 'trust-resion-reflective’
188 — algorithmflag = 1}
189 - case 'levenberg-marquardt
190 - algorithmflag = 3;
191 - otherwise ¥ Invalid choice of Algorithm
192 - error(messagel ‘optin:fsolve nval idalgorithn')) v
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docking 2} undocking

* undocking

OEE HIE E7w H4E€0 =0 H"=3T0O
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ASze - - R MR QDY IP ALY v [ e XL v 3o|=y3 > liparallel ¥~ cpojes v
me [CES Ei= SIMULINK TE et

€«>EHEA y o dlejandro » Documents » MATLAB

i =24
= 0.0000 O . 0 0 0. 2
:{ji textl.mn 0.0002  0.0011 0.0050 0.0183  0.0573 0.1547 0.3626 0.7406  1.3221 2, 0681
“test2m 0.0002  0.0007 0.0030 0.0105 0.0316 0.0833 0.1920 0.3877  0.6872  1.0706
0.0001  0.0004 0,014 0.0048 0.0142 0,039 0.0843 0.1693  0.2989  0.4646
0.0000 O . 0 0 0. 0

== helpwin peaks
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330] FollM 2 EstI] (1/3)
- ) Z=ZE G300 BdE € = Enter 7| &
- O:IE-I _E_%)l-% _E_D (,)E __l'“:éd 7|-% >> X=10, y=35’ Z=Yy-X
- 0] 3P YAZLE 222 MY x =
- = 10
- 20| R ZU()2 2 = y =
- EnterZ| & 2|H 35
Ctg Z0fl ¢lojof ¥ 7ts ‘e
24,096 2213 7ts
+ 2% gl (DS F28 A 2H3d B0IS oAl =9
otM & 4 US. w0
- BF0 Y = MD[ZE()= E0IH g
- AR 2T YO BAIRIA G, e
- (Z27FUR ZAL 0|0 ZNYS T RE) L

he lpdesk

helpwin plot
®=10, y=35, z=y-u

Jx > w=10, v=55, z=y-x
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A48 25 X =,
Ealt 2RI %2

Lo O.

HUE (%)= Z=21ds 289 Of ArEsiH 3= 7

—

_ = >> exp(3); % e3
(ans)= = AlAret AH{f 5> 10g10(10A5); % log,, (10°)

D> X=2; y=6+x, x=y+7
y:
8
X:
15
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330 oM 2 Est7] (3/3)

e 224 oK 1}y
— format short:
« 208 0[5 4 A2|8| NEArEHOZ HA[G
- format long
« &4 0|5t 15 A 2|48 DdarHoz HAG
- format compact
« SIHHEA|O| Bl Z0| G1O| whtsh St A| HA[S
— format loose
- SIHEAIO| Bl S5 90 HA[S
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Al AL A 5A3 (53 = 2|0|gh

e 2|Z LIMl(left division)2 2EZ LiMl(right division)2| €4=0|Z|2t

HIZ0l| M= 21%F Lixd0| == AtZ &t



OF _- 100

Y m_ ujo

NE o

WMME ~|=

—| < | OF | =0

= 0ol <
m0| 0 gy mn|SH s
2| K0 jof | | o | =

%ma U | = | =

LA

gl mo 3

—:A .~

R E:

il MO
< ~|
ENEE
oF
Gl || <
Ok

13



Aik =M o (1/3)

>> 4+50+3%100+10/2-400/2
ans =
400
>> 2N\5/(275-1)
ans =
1.0323

>> 2*(sart(5)-1)/(sart(5)+1)"2-1

ans =
-0.7639
>> 10*acos(-1)
ans =
31.4159

y

14



>> 7+8/2 % 8/27t HA +E

>> 4+5/342 % 5/30| HA L=l
ans =
7.6667
>> 5A3/2 % 530| HA| ~3HE
ans =
62.5000
>> 277 (1/3)+32/0.2 % 27(1/3)+3202

ans =

5




+ | =5k Bfof T2t 225t 2

>) 2*4N3+5
ans =

133
)y (2%4)N3 + 5
ans =

517
>> (2%4)13/5
ans =

102.4
>> 9N(1/2)
ans =

3

>> 9IN1/2
ans =

4.5000

% 2x43 + 5

% (2x4)3 + 5

% (2x4)3/5

0% 91/2

% 91/2

y

16



=24 S{ Al

= —1 ‘g =

+ MATLABY| 7| & (default) 22 Al W
- 247 03 U 2212 T4 DYALH " 6667

« ZHYAR2 format BHOZ HIE = UAS

- format short

- format long

- format short e

- formatlong e

- format short g
- formatlong g

- format bank

- format compact

- format loose

-« BAQHA|E otti= of F0|1 ZA| f49| ¢0] 8= A2 Ot



format H210{2| S} EA|SHAl

EEL M o
0.001< £< 10000 &8 444 O|st Y| 2|42 $200/7
format short | 1A ALZHOZ HA|E e = 41 4286
1 2|9 HL9| = short e HAlOZ HA|GH '
0.001< £<100Q! =5 244 0|5t 152t2|e] 12 $$290/7
format long | ZdALZHO=Z HAIE 1 2| #H2|9| 4= long e >
%MEE Al ans = 41.42857142857143
AN L= AO| NISHA EH O St
format short e | &8 Ofof U| Afe|==of dpetH BIIBC= AR | 20 7"/ 4 4596+001
AAZ 0|5} 15 R}2|40| HeHa F [ O 5t [ 2229077
format long e T8 O[5t 15 A2l-o aefs 7|9 o = BAE ans =4.142857142857143e
+001
1Y AL BAR Es5440d HA SO AEsE | >>290/7
format short 9 | yisio = g Ajsin 97 22t= 5742l ans = 41.429
e ona g | 28 AR EA EEASE HA| Z0IM HFE [55290/7
99 luoz gAY, & 23H= 15749, ans = 41.4285714285714
_ - >>290/7
A = 22| 7FR|BF BA|SH
format bank | &~4~3 Ofot &= Ate| 74A| 2 HA[EY. ins = 4143
format compac 50 Z2 323t

t

format loose

Of 2 27t BAIE =5 5h7] 2ff ¢
H

format compact@} Bttj £ A1} 250

18
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MATLAB

At(@argument)= T+ =l

o

>> sqrt(64)

=8
>> sqrt(50+14%3)
ans = 95917/

dns

>> sart(54+9*sqrt(100))

ans = 12

>> (15+600/4)/sqrt(121)

19

15

ans



JEPCITET PN
o EE o
sqrt(x) e ;isscirg(m )
ALA O AlA ARl
nthroot(x, n) (f(; X%J# ag& n;g‘:é—# 2120[0{0F 3H) Z?\S”ihzrf)%(;z@, 5)
O ;?\seip1(23.41 32
abs(x) 18 FAy ;r>15ak=352(_424)
log(x) ﬁgﬁ%ﬁil(ln) >> |o=g(1 000)
= = ans = 6.907/8
log10(x) alo| 100l 21 a>n>5|2931,8é)10%00)
. ABEA o .
factorial(x) Zj(lg g;a x@—’.‘—OIOwIE ) Zisfc’i:CﬁC;ré)aK@

20



M2t

g 43 o]
sin(x) | A= x8| Arel(x radian) ;?]SSL”(DV@
sind(x) | ZH= xQ| ARl (x=°) 0.5000
cos(x) 2tz x9| FAFQI(x= radian) ;%chsdBO)
cosd(x) 2t x| ARl (x=°) 0.8660
tan(x) | Zt= x9| EFHIE (x= radian) gasta:n(pi/@
tand(x) | 2= x2| BRIE (x& ) 05774

radian)

X
(x=°)

>> cotd(30)
ans =
1.7321

AR2ESE4~: 3sin(x), acos(x), atan(x), acot(x)
A2 ALZESEA (Hyperbolic): sinh(x), cosh(x), tanh(x), coth(x)
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round(x)

>> round(3.4)
ans =
3

fix(x)

>> fix(2.6)
ans =
2

ceil(x)

> ceil(2.2)
ans =
3

floor(x)

>> floor(-2.25)
ans =
-3

sign(x)

>> sign(5)
ans =
1




Variable_name = 2| 4} £&= A4 756k Al

Ha 0| ALO[Ofl= S8 ALE=71 (T4 B2 2AH() AFE)
U&ets Ol & (S cos, sin, exp, sart 5) HZE AR ofH 1 g AR =74
7|HE 207 HE-Z ALEZ7t (iskeyword g2 &0l 71s)
* break, case, catch, classdef, continue, else, esleif, end, for, function,
global, if, otherwise, parfor, persistent, return, spmd, switch, try, while

Ol2] Hol&l ¥ AFE7tSSILE =2l2f 2= LAl AFE=S71

23



>> x=15
X:

15
>> x=3*x-12
X:

EE
>>a=12
a =

12
>> B=4
B —_

4

>> C=(a-B)+40-a/B*10

C=
18
>> ABB=72;
>> ABB=9;
>> ABB
ABB =
9

0121712 A8 W

-

% 157} B4 x0f| &=

% M= 210l x0f| &

% &= 125 a0 €

% 4= 42 BO|| &g

% Coll &Y=

% He2| oA 40| 2HE

o] [

1= (1/2)

0

>>a=12;
>> B=4;
>> C=(a-B)+40-a/B*10;
>> C
C =
18

>>a=12, B=4; C=(a-B)+40-a/B*10 % =0

3=
12
C =
18
>> x=0.75;
>> E=sin(x)A2+cos(x)A2
E =
1

24



MATLABOI|A O]2] Z2|S! e

o 2 3 of
eps & 4= ALO|9] 2[4 202 252 H =
>> 1+2j
] e =/-1 ans =
1.0000 + 2.0000i
>> 10/0
Inf Sobs| 24 ans =
Inf
) >> 0/0
NaN Not-a-Number. 0/02f 20| Zo|et 4~ gl= 22} ans =
NaN
>> 2*pi
pi 1=3.1415926535897 - ans =
6.2832
- 9| BIAS2 AIRABSRE AIRE 4= QoL 2ol ojn|S A
ofB =2 F£9|

25



02712 AL 7= (2/2)

>> a=4, b=3; sum=a+b

sum =/
>> a=7; sum % agfo| HIR O =
sum =/

>>Class_1=20;Class_2=15;Class_3=14;Class_4=17; Total Number=240;

>> ave = (Class_1 + Class_2 + Class_3 + Class_4) -
/ Total_Number * 100
ans=2/7.5
>> ave=(Class_1+Class_2+Class_3+Class_4)/Total_ -
??? ave=(Class_1+Class_2+Class_3+Class_4)/Total -
Error: The input character is not valid in MATLAB statements or
expressions.

26



HH 4 3
clear 220 25 He=2 AA.
clearxyz |HZ22[0|M B4 x,y, z B2 A|A
who il H22[0f Q= HEEe SE2 otH| &4,
Y DﬂEEIOﬂ Qe H4=2| 0|52 27|, HIO|EL} S A0 Cf
whos — =
ol A E StHO| =4,

27
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da=4l

 MATLABZ= 0| &350 Ct5 Al4+HS = 5tet.

4 sin (2)
1) 6x2° += 2)3
(1) 6x 5 (2) -
3
(4) tan’12 1-H

272 4
3 +
D) e 120
(6) 2.73e?

29
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« AEIE (script) I}

SofA Y 2

]

o

(m2a)e

Ww|r
o]

+ AIYE T

- MATLABS| &9 &

AlSHE]
=]

=

oo 7|52 =At=

19

Off #A| (& =0[A]

- +380| /tsotl o= &

= A2

e
[e}

)

fal
0]

o8

F

F

2
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J0

f
110

<

- MATLAB ™&!7|0|| M
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P

0

- =] HZOfM HEt

o
g EI| -
(S EEC S Hicly =7k
27| HE  pae sn e
e s
== [ Ly v Users b Algjandro b Documents b MATLAE »
i 25 ® | [ ®E7| - D:AlejandrowGoogle
ols +5 | anitestm | fiterl.m | P
" Apps A @ o U2 M4l QU EMZ THE2ASE
~| ani_text.m
ﬂ anitest.m %%

}’ binaryMum.asv % Wheeled Fendu
&) binaryhum fig

1

2
) binaryNum.m 3 % WheeledPendu2
2| bouncingball asv =
ﬂbcun(mgballm 4 % paransters p
) BouncingBallFunction.m 5]
£ Calcu fig
) caleum G
%) cartesian.m 7

%oinitial value
%global ml m2 L
= f_gen_gif =0

a5 CWUsersWAlejandroWDocumentsWMATLABWtestl.m - =

2 — y=1.5%x-3, z=8»sin{2»x);
3 - plotix,y,x,z),xlabel {"«' ), ylabel {'v'), gtext{ 5 J2H=2| H|']);
4 — grid om‘

23z 2ol 4 2 g

31



HE7| =70 2l ==

. g

2q
o

0| m OtLO|F Enter?|

i CiUsersitAlejandrowDocumentsWMATLABWtest1.m - = =
=10l &
— g A@ee e B febh - e B
NEwss w mm P T T ERIER R P
- R =TT I -t T N JO%- =/ =3
e g s zom 2
1—  x=[0:0.01:pil: =
2 - y=1.5+x-3; z=3+sin(2«x];
3 — plotix,y,x,z), %label ("% ), ylabel{'v'), gtext{' T TI2H=2| H|W']);
4 — arid 0n|
23z |29t 4 = 8

4 gzy ~ - “EEN

»r testi

fg€>>‘

32



ujo

o]

+ ATRIE f

=
(=]

- WF B0

33



. 2

—_

- B2y Cj2Ef2] A

O

I

l= Dt O]

20

G 2

=

o]
JUN

|

0!

27| H= 0l &

o

2 Cl2Ef2| S

27|
20

(

4 MATLAB R2014a ° - O
BEHL GO D@z =
e 9 | G e 271 e A e =R [z as um é?
g - = 2 -
4= owso @ mz B0F FH%k i) %% sen wm wmzm Lpa wmAD
v S v S6EI ] by fa WEN - v > oz =3
N2 2% [ =0m 2
» ¥ Users » Algjango * Docufhents » MATLAB » M
@ | = HE| - NgUsphMAlejandroWDocumentsWMATLA.. @ x | [RSgulasly ®
<6 | Caleum | scattertestm | anitestm | fiterl.m |+ o= o
Apps Al - ¥=0 Bxrandn{100,11+0.1; = == T
‘j ani_textm E)- i
#) anitestm 2 - y=0 2«randn{100,1)-0.3; e e
2| binaryNum.asv 3 wm=mean (]
ﬂblnaryNum."lg ( )
) binaryNum.m 4 — ym=mean(y);
2| bouncingball.asv
‘jbcun(ingballm 5- Scatter(x,yJ
) BouncingBallFunct... B — hold on
2] Calcu fig N
B calewm 7 - scatter(=m,ym, 's', 'MarkerEdgeCalar
# i )
) crtesian.m 8- axis([-3 3 -3 3]);
& closefigfen.m
L] day1 9 - grid
5 digitaltest.m
£ eulerzr.m
[ hd
AL B s
MT FES 2 o %
I« > < >
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cd BF= 0|82t Cl=HE|2]| H
20| Q142 S20|E E& Cl2E{2] 0|52 ARE

>> cd('E:Wwmatlab’) % e E2}0|E matlab C|2lE{2]
»>> dir % Cl=lE2| & 27

testm testZ2.m
testl.m

>> test1 % Al |
>y cd % CIA| CEZ2lo|E 2



=S oAl (1/4)

B x tanx + sinx
2 2tan

>> x=pi/5; % x5 49
>> LHS=cos(x/2)"2 % ZpH ALt
LHS =

0.9045

>> RHS= (tan(x)+sin(x))/(2*tan(x)) % S 2| At
RHS =
0.9045
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« t=00IM Z7|Z2E7t T =4S 2571 To= 8ot Y 20| =2 =H,

=4l thS Ao Tef 271 Hott.

- AS2t ool AE 2= 120°F A AL S 20t 38°F 2l Wy otofl
A= M, Ml AlZh = 19| 2= Br=Eot0] 4= fHotet.
- ¢, k=045 o|c}
>> Ts=38; T0=120; k=0.45; t=3; % 40| Z o)
>> T=round(Ts+(TO-Ts) *exp(-k*t)) % Ht=22]
T=

59 % A2t



=S oAl (3/4)

o0/ r2 0|27t 217t n¥l B2|2 FO0{A= o3 A|Z0| UF PS SI1 O, 11 F|

Olz3AIZE 222 B

O[2}7} Off'd =2|= FO{ZILHEH, 2t B=

B=P1+1r)t (2)
2 (2)0f 5,000 &HE EAfst 2A (1) o= 5,000 E2HE EX:(HS T (2) ARt
|_

of 17\ 20| }:et (1)Zzte] 27t Lot AlRMe Hat 92 Adbstet. (&, r2

25 85%)

=0]

ol

FC}

I'

- A (2)2 0|I8st( 0|27t o' =2| A g&|= Alztof| FAtel $5,0008] 178 = 2H10 BS A4t

- OiE =<l O[R SA A (1)2FE], a.0|M A4tE BOj| Cieh t= Al Lkttt
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=& oA (4/4)

o O
HO|= r= OfA/F ALt ntH

f
= P F/rg o, td =9/ 0f

=e|2 FOX|=
Az 2t4 B=

—1
(-

% Of|A| 1-4 =2
P=5000;r=0.085;ta=17; n=12;
% TtA a: A(2) = BAA
B=P=*(1+r)"\ta

% A b: (1)0|A] t A|AE
t=|og(B/P)/(n*Iog(1 +r/n))

% ©A 9 2 iE 2 28
years=fix(t)

months=ceil ((t-years)*12)

OlzAzrof &
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